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/I Copyright (c) 2012 eryar All Rights Reserved.
I

1 File : Main.cpp

1l Author : eryar@163.com

1l Date :2012-9-917:11

1 Version: 0.1v

I

/I Description : Ipsolve test program.
I

I

#include <iostream>
using namespace std;

#include"lp_lib.h"
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#pragma comment(lib, "liblpsolves5.lib")

int demo(void);

int main(int argc, char* argv(])

{
return demo();

}

int demo( void)

{
Iprec* Ip;
int Ncol =0;
int*colno =NULL;
int] =0
int ret =0;

REAL* row = NULL;

/I We will build the model row by row,
// So we start with creating a model with 0 rows and 2 columns.

/I There are two bariablesin the model.
Ncol =2

Ip =make_Ip(0, Ncol);

if (Ip== NULL)
{

cout<<"Unable to create new LP model!\n"<<endl;

ret=1,

if (ret==0)

{
/I Let us name our bariables. Not reguired, but can be useful for debugging.
set_col_name(lp, 1, "x");
set_col_name(Ip, 2,"y");

/I Create space large enough for one row.

colno = (int*)malloc(Ncol * sizeof(*colno));
row = (REAL*)malloc(Ncol * sizeof(*row));
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/I malloc memory failed.
if ((colno==NULL) ||row==NULL)

{
ret =2;
}
}
if (ret ==0)
{
/I Makes building the model faster if it is done rows by row.
set_add_rowmode(lp, TRUE);
// Construct first row (120 x + 210 y <= 15000).
i =0
/l First column.
colnolj] =1,
row[j++] = 120;
// Second column.
colnolj] =2
row[j++] = 210;
/I Add the row to Ipsolve.
if (‘add_constraintex(Ip, j, row, colno, LE, 15000))
{
ret=3;
}
}
/I Construct second row (110x + 30y <= 4000).
if (ret ==0)
{
j=0;

/I First column.
colnafj] =1;
row[j++] = 110;

/I Second column.
colnafj] =2

rowfj++] =30;

{// Add the row to Ipsolve.
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if (‘add_constraintex(lIp, j, row, colno, LE, 4000))

{
ret=3;

}
}
/I Congtruct third row (x +y <= 75).
if (ret ==0)
{

=0

/I First column.
colnolj] =1,
row[j++] =1;

/I Second column.
colnolj] =2
roufj++] =1,

// Add the row the Ipsolve.
if (‘add_constraintex(Ip, j, row, colno, LE, 75))

{
ret=3;
}
}
/I Set the objective function (143x + 60y).
if (ret==0)
{

/I Row mode should be truned off again when done building the model .
set_add_rowmode(lp, FALSE);

/I Set the objective function (143x + 60y).
=0

/I First column.
colnafj] =1;
rowfj++] =143,

/I Second column.
colnafj] =2

rowfj++] = 60;

I/ Set the objective in Ipsolve.
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if (Yset_obj_fnex(lp, j, row, colno))

{
ret = 4;

if (ret == 0)

{

/ Set the object direction to maximize.
set_maxim(Ip);

// Just out of curioucity, now show the model in Ip format on screen.
/I Thisonly worksif thisis a console application. If not, use

/I wirte_Ip and afile name.
write_LP(Ip, stdout);

/'l only want to see important messages on screen while solving.

set_verbose(lp, IMPORTANT);

/ Now let Ipsolve calculate a solution.
ret = solve(lp);

if (ret == OPTIMAL)

{
ret =0;

/I A solution is calculated, now lets get some results.
if (ret==0)

{

// Objective value.
cout<<"Objective value: "<<get_objective(lp)<<endl;

I Variable values.
get_variables(Ip, row);

for (j =0; j < Ncol; j++)
{

cout<<get_col_name(lp, j+1)<<"="<<row{j]<<endl;
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/I We are done now.

I/l Free allocated memory.
if (row!=NULL)
{

free(row);

if (colno!=NULL)

{
free(colno);

// Clean up such that all used memory by Ipsolveisfreed.
if (Ip!'=NULL)

{
delete_Ip(Ip);

return ret;
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